=
sinAz%O]_Tl,B_7 2cm & o, AC -
AB 9 #h29
@® 2 @ 4 3)6 @ 8

B

sin A = B =

AC

| =~

:Ex%:lQ,A_C:w

watA AC - AB =15-9 =6 o]t

o]B& AC xsin A = BC o]t}

metratAs A2lof o5 AB = V152 — 122 = 9 o[t}




HAFAS] 7)ol AL S ek AAmE 487 ele 52 Aol
Hlgo] o5 2RH. T F AR 7P AL B 2L

@ sin A @ cos A @ tan A
1 1
@ sin A cos A

B A A Y vl Az oA BT Eo] 9
S2 AT 4 082 tan A o 7P AT At

= 4




3. /C 7} AR AZMt7tY ABC oA AB = 2, BC =12 & o,

V2 1+ 2 1+ V3
®_1T2x/§ ®_3\/% @_ !
_|_
- © -
AC=+V22-12=13

(sin B+ cosB) (sinA — 1) = (\/7§ + %) (% - 1)
V3




B AU R gt A2

@ AB,OB @)OB,AB
® AB,OD @ OB, CD
® OD,CD

C

AB//CD ©]E& /0AB = /OCD

sinx = sin(Z0OAB) = (O)—B =0B,

AB
cosx = cos(£0OAB) = OA = AB




ohg Az o] ghe Ae ANE Aol sk

@ sin45° ® cos0° © cos35°

@ sin75° ® tan50° ® tan65°

D ©-0-0-0-0-@ @ @-©-©-0-@-®
® @-0-0-0-0-6 @)@-0-0-6--©
6 ©-0-@-0-0-@

tanz
- (- - ,Sinx
Val A : :
2 ! !
| I
| I
I
! 1COS &
[0) 45°  90°

0 < x<45° oA =1 > cosx > sinx | B2
@ sin45° < © cos35° < ® cos0° =1
sin75° = cos 15° > cos 35° O] 22

© cos35° <@ sin75° < ® cos0° =1

45° < x < 90° 9| A tanx > 1 o] 22

1<® tan50° < @ tan65°

mtA AR 4ot @-©-@-©-©-O©




6.

o A2 & H31 cos10°—tan 10°+2sin 10° x tan 50 ° 2] <
A= ER A 7FA] ~Lob?

2= sin cos tan

10° 0.17 0.98 0.18
35° 0,57 0,82 0.70
50° 0,77 0.64 1.20

D 1.15 @ 1.17 @ 1.19 @1.21 ® 1.23

cos10°—tan10° + 2sin10° X tan 50 °
=0.98 - 0.18 + (2 x 0.17 x 1.20)
= 0.80 + 0.408 = 1.208 = 1.21




® 6cm @Gﬁcm ® 6vV3cm
@ Tcm ® 7V2cm

B ‘

CH
450 = ——
COS 6
_ 3
CH = 6 cos 45° = 6 x ‘/7_ — 32 (cm)
AH =CH =3V2 (cm)
, AH
sin 30° = —
AB




“--= 90 ----

@ (1)12(2)18V3 @ (1)12(2)20V3 O (1)14(2)18V3
@ (1)14(2)20V3 @(1)15(2)20«/5

B

(1) = x 10 % 6 X sin 30°

:1x10x6x1:15
2 2

| =

(2) £ x 20 x 4 x sin(180° - 120°)

1
=§><20><4><Sin60°

:%x20x4x\/7§:20\/§




B
o

O 22 YPYAPHY ABCD
of A thz}d BD ¢t AC ¢ LS P
2} gt} /BCD = 60°, AD = 12cm,
AB = 8cm ¥ W], AAPD 9] Hol&
otoizt,

A}

@12\/3 @ 14V3 ®16v3 @ 18v3 ©® 203

B ,

AAPD = 1AABD

1
=§x§x8x12xsin60°




1
10. tanA =1 ¥ @, (1+sinA) (1 -cosA) + 5 O] F2(H, 0° < A<

90°)
o; @ ®v @vi 0=
tanA =1 & o
A= _ 1
SmA_\/i’ cosA_\/i
. 1 1 1 1
. (1+s1nA)(1—cosA)+§:<1+7§> (1—7§)+§:1




11. S5 32427
@ sin30° —sin60° = q
@ cos30° x tan 30° 4 sin 60° X tan 30° = 2
cos 60°
N
sin 30° V3

@COS 45° + sin45° = V2

® tan60° X tan45° = V6

B

1-+vV3
@ sin 30° — sin 60° = 2‘/_
@ cos 30° x tan 30° + sin 60° X tan 30° = 1
cos60°
sin30°

® tan 60° x tan45° = V3




12. 470)E ol§ste] 421423 ABC @ B

2 sin AtanA
©) % @ acos AtanA

® asin AcosA @ a?sin AcosA

a? sin AcosA
@

BC=axsinA , AC=axcosA °|B&
a? sin AcosA

(AABC ¢ ;—gon:%xA—cX@: >




13. A9] ZAo|7} 20em 2 F&0] OA & the 1} 2L 712 o] 2rhil

/_ZOcm\
A - 10
o i
D 16V2cm @ 14V2cm ® 12V2cm
@10\/5cm ® 8V2cm

OH 2

= — Ccm

20 2

cos 45° =




14. 23 2e 3Pl A AdTC A
A Apole] A2 E ALY 20m N
ofth. A - B A4 Abele] Azl

9

O 2113\/6111 ® 215;«/6 .
0 2, o2,
@22(;\/5m

CH = 220 x sin 45° = 220 x ‘/75 = 110 V2(m)
-.CH=AH
L Ap_ AH 220«/€(m)

~ cos30° 3




15.

b5 13 Zo] Ao] Zo]7t 20 cm )1 F71
9lch. ZAOB = 30° 4 o, o] F7} A & 7]
o2 % cm 9 #olof A=A F+5HH?

@(20—10 V3) cm @ (20-10v2) cm
® (20-5v3) cm @ (20 - V30 cm
® 5 cm

OA = OB = 20cm °]|E2=2
AH = OA - OH = 20 — 20 cos 30°

:20—20><\/7§:20—10\/§(cm)




the 189 AABC oA /BAC = 90° , AHLBC ©]1 /HAC = x 2}
& of, tanx O] FH-2?

:SD;

=]

=

I
=
oolllc:

I

|




17. sin?1°+sin?2°+sin?3°+ - +sin?89° +sin?90° 9] FHS 5t
2},

@ 45 (@)9—21 ® 46 @ 2 © 47

~EB ‘
sin®1° = cos? 89°
sin®2° = cos? 88 °

sin? 44 ° = cos? 46 °
. (£2]) = cos?1° +cos?2°+ .-+ + cos? 44 °
+sin?44°+ ... +sin?2° +sinl°
+ sin® 45 ° + sin? 90 °
= 1x44+%+1
91
~ 9




18. & I™H¥ 22 4749 ABC A x 9
#H2?

© 25(V3-1)m @ 50m
@50 (V3+1)m @ 100 (V3+1)m
® 150m

B ~
A
\
A5° :‘B

1
/

. 0° 45°
100m’C H
tan45° = C—H

X

- CH = xtan45°
BH = xtan60°
BC=BH-CH = xtan60° — xtan 45°
x(tan 60 ° — tan 45 °) = 100
100

= tan 60 ° — tan 45 °
100




19. t}S 1A nABCD & A o]
t}. /EAD = 60°, AB = 6cm ¥ o,

AP 25 Yol

@® 7(cm2) ) ? (cm2)
®10(m?) @ 2 () 6cm

(@) 2—27 (cm?)

B

@:EsinGO":ﬁx\/Tg:S\/g(cm)
w2hA ADEC 9] Yol
% x ED x CD x sin (180° — (30° 4 90°))

:%x3\/§x6x\/7§=%7(cm2) ojct,




20.

T8 19 9] AABC oA 5.0ptAB : A
N VS

5.0ptBC : 5.0ptCA =5:3:4 0], 9

Y 0 9 B2 52 10cm € @, AABC

o] wol=?

B
© 15 (5+ V3) cm? @ 20 (5+ V3) em?
@)25 (3+ V3) om? @ 30 (5 + V3) cm?

® 32 (5+ \/3) cm?

B

/N N\ /N
5.0ptAB : 5.0ptBC : 5.0ptCA =5 :3: 4 0|22 /A : /B :
(C=3:4:50|t},
3

AA:EX18O =45

4
/(B=—x%x180°=60°
12

5 o __ o
/C = 2 x 180° =175
= /BOC =90°, zZCOA =120°, ZAOB =150°

AAOB:%xﬁxﬁ(B L 47149 o))

—

_ 1
BH = 10sin30°cm |22 AAOB = = x 10 x 10 x 5= 25

[\Y]

1
Zo o g AAOC = 5 X 10X 10 xsin60° = 25 V3(cm?)

1
,ABOC = 3 % 10 x 10 x sin 90 ° = 50( cm?)

w2t A AABC = AAOB + AAOC + ABOC = 75 + 25V3 =
25(3 + V3)(cm?) o]t}




